MASTER
UCC28950
AN AN 1 | VREF GND |24
| |
2 | EA+ VDD | 23
AV | |
| 3 | EA- OUTA | 22
Vour Y H | ' '
AN VW 4 | COMP OUTB |21
| |
5 [ SS/EN OuUTC |20
| |
6 | DELAB OUTD |19
| |
7 | DELCD OUTE | 18
| |
8 | DELEF OUTF |17
| |
9 | TMIN SYNC | 16
| |
10| RT CS |15
| |
11| RSUM ADEL |14
| |
12 | DCM ADELEF |13

If you have two UCC28950 power converters operating in parallel using peak current mode control with one feedback loop they

should share current fairly well. The configuration you sent looks correct.
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SLAVE
UCC28950
1 | VREF GND |24
| |
2 | EA+ VDD |23
| |
3 | EA- OUTA | 22
| |
4 | COMP OouTB | 21
| |
5 | SS/EN OouTC | 20
| |
6 | DELAB OuUTD |19
| |
7 | DELCD OUTE |18
| |
8 | DELEF OUTF (17
| |
9 | TMIN SYNC |16
| |
10| RT CS |15
| |
11 | RSUM ADEL |14
| |
12| DCM ADELEF |13
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UCC28950
VREF GND
EA+ VDD
EA- OUTA
COMP ouTB
SS/EN ouTC
DELAB OuUTD
DELCD OUTE
DELEF OUTF
TMIN SYNC
RT CS
RSUM ADEL

DCM ADELEF

24

23

22

21

20

19
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14

13

This works because one comp voltage controls the peak current level of both power stages. The level of the comp of the master controls
both peak current limits of the slave as well. That is why the slave is setup in a voltage follower.




